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®)022 n}@3ee0m (Let us recall)

1. GHO6M)BHUB BRBHIMP) )b

1
n M2)A0E NESUD (PARALLEL LINES)

2. anjaies @mMIolee)m all(@eEBElTd 60) cH,Hoemlond @esal mamcles)mm,.

DEQ EHOEMIOZ @OSAT H6EMBOIHO) .

In the following figures, measure of one of the angle is given. Find the other.

o

f 40

70°\ ?

80600 GRIW] G 6M)dH U3 GIRNSS NIMWo )6 ?

What do you know about each pair of angles?
. afll@omled 80} emoemle @egal @mlclesym). ? aflaMo o51E1E6)M

GHH06M1608 @RSAT HEMBOIHO) .

In each of the following figures, measure of one of the angles is given. Find the
measure of the angle come at the place of “?’

100° 130°
@) (i1) >

?
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4. @mMIElEn)aM TVORIMOE]BEBBU3 DE® @RSANGTE AUIOWEH) .

Draw this parallelogram with the measures as given?

(1) 3 (ii) . (iii) o
\1 10 \60
3 4 5

RS 8J0 6M}&830 (Lines and angles)

1. 80) esoemlend @egal ®MICIEH)aN). AOGLI0 CHIEMHS)OSW)0 GRS H>UB

ag)l©® ?

Measure of an angle is given. Find measures of all other angles.

A A A
L/
(1) / (ii) (iii)
50° 55° 40°
7) 7) 7)
vl

v) A

(iv) / ) \58° § (
VP / /
7/ ”

e&6m anldejomeud (Matching angles)
2. af)el0 CHIMHB)OSW)0 BRSO HUB GHEMBOIBO} .

Find measures of all angles
20° ; 25°
(1) (i) (iii)
y 2 . ?
45
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30°

(iv) ™) (vi)

(vii) (viii) (ix)
(x) (xi)
125° 130° 2\
(xii) (xiit)
5 50° 130°/

DY H,6MEN}G D 210 CMISH] . ..
Try these problems...

1 all@omleal MoadMmeleo @MIClenmm GRS8ANEE Aloe)d. @Q) @)aN)
GHOEMN)HUB 61N BHIBLH) .

Draw the parallelogram below with the given measures. Calculate the other
three angles.

? N ) > 2™
(1) g (1) g
- “
60° ? 50° ?
5cm 6 cm
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2. 2@ 20866 EaITGNBIHOYMN CHOOME GOSN &HEMEIHO) .

Find the measures of angle marked in the figure

50° 35°
(i) ? (i) (ii) ?
40° 30°

3. D all@o AUOWENH. 2fl@OE®GY HSEOMIF 2alBlem® AUOW)IHS GRIWIW)o
QUBIGOMOS 210160 QAUOBS)OS GRIWIW)o TVAITHOAI6M).
In figure, the pair of lines slanted to the left are parallel and also the pair of lines

slanted to the right.

(oleIem &emaeér (Triangle sum)

» 2(©OBC8 @RSWIBHISIOTIW EHMIOME @RSAT &6mMEHIBe)H:.

Find the measure of all angles marked in figure.

(1) (ii)

> aBO) (@EHEMOTIORIW)0 GBI HSBYOS af)2loo @)@ ...... @1 6M)

The sum of all angles of a triangle is ........
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DD HEMBENHUB H210®) eMode). Try these problems

1

21)UOS &06M1afl0lee)a (@]EEH06Mo AUOW E) .
Draw the triangle with the given measures.

] 60°
70

50° 40°
(i) 6 cm (ii) 5cm

2 @O 2O MO (@]8HeMo AUE{lBlee)m). (@IeaIemamieal

GHO6MN) BHUB M BOIHE) .

The figure shows a triangle drawn in a rectangle. Calculate the angles of the
triangle.

{ 25° 45" 5

{40 35 ¢

2ol ®IYeTOWI0 2)&HElNaIW)o AUOGUE TLAITHOEAIEM. af)alo

GBH06M)HBIOSW)0 @SN BUB B6MBOIL) b>.

The top and bottom lines in the figure are parallel. Find the measures of all
angles?

/K\A

2@E®IE3  MORIMHO]EEH NGO (@18HIMo AU fl01Ee)M). (@BHO6M

ODOR! BBHOMBHUB E6MBOIBO) H>.

A triangle is drawn inside a parallelogram. Calculate the angles of the triangle.

60° 70°
30° 30°
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YSIOT3 C21)B)6URUD (Extra Questions)

1. 80) (@CHIEMOMIOL! 3 BEHIM)BHB)OS @RBOYEU3 @)LIYA06M). 0G0 GE>06M]
6)(‘(3(@)@30 @R8OU®?
If the three angles of a triangle are equal, what is the measure of each of these
angle?

2. 80) (@CHIEMOBIOR!I 2 GHIEMHUB MIRINA6M. AYIMIAODE® CHI6EM 30°
@M. MRIIAIQ GEHIM)BHB)OS @OBO(®?
In a triangle 2 angles are equal and the third angle is 30°. What is the measure
of equal angles?

3. 80600 alll@@T]aN0 BEO EPSWISAIF AUOGBHUB MVAIMMOEBRBM. ‘?” GRSWIS
ols e:oemleng @esAl &06mM)H.

If each of the following figures, lines with same markings are parallel. Find the
measure of angle in the place of ‘?’.

o

I 3 O° 88
(1) (ii)

77
T

4. D AUOBHUB MAINDOEBRSIGEMI? af)0M)OB6NTS?
In the following figure are the lines parallel? Why?

|

I
T
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5. all@o®I@d QflelEReMIB88 AUOU3 TVAINNOEEBB6M. 2l0160 QAUQES)o0

MUROMEEBRBI6M. MOUGIS 5 GHIMIBHSIOSW)I0 @RSAUYGHUB  af)PY®)d>.
BOOEMAYO af)P)@)b>.

In the figure the horizontal lines are parallel started lines are also parallel. Find

the measure of all the 5 angles marked in the figure. Write the reasons

)

|
@
A(Z) 3)
l
|

(1)

110°

6. all@omleal agald CHIMBS)o HSIWIE ag(@? aflelEBemW)Ss <
QUUD6BRUB MLADT OEBRSBIEM).
In the figure the horizontal lines are parallel. What is the sum of all the angles

in the figure?

7. 06ME  ALVAOMOOUOBUWBESISWIEd  AUEflelen)mm 3 (@]CHI6MeEBR86M

2 l©®O®@I.

Three triangles are drawn between two parallel lines as shown in the figure.

\70 80°

@M1 88 BH6M) (13 BY1OHWISSAUW)OS GRS GUB BHEONBBIM)E:. HOOEMO

ag)®)@6mo.
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Measure of some of the angles are given. Calculate the measure of the other
angles. Write the reason.

. 110° @esalled esoend ABC auodieeys. BA agon cuow@d B oled mlms 3

omu.2’. @eseiomled BC dies cunomonsw] 80) Ao aowee)d. aN®
OO af)2ld EGHIEM)BHS)o CRBHOHIOD af)PI®)dh.

Draw an angle ABC of 110°. On the line BA, mark a point at a distance of 3cm
from B. Through the point draw a line parallel to BC. Write the measure of all

the angles without measuring it
A

° A 110°
70°
B
110° /70° ¥
w2

E

110°

\

. 0D 2@ODOR! af)ald CHIMB:Slo H)SIVWIT af)@? AllelEReMW)SS

QO U3 VAT OEBRSI6M).

In the figure, horizontal lines are parallel. Find the sum of all the angles in the

D

2)@) 621)8J6080J (Sample Questions)

. allmo®led AB,DE agiom’ closud cuaommeeergoem. 2B = 70°, £LACD = 60°

figure

@RWOMd LACB, ZBCE 001 &6M3)ailSles)d:.

In the figure, lines AB and DE are parallel, £B = 70°, £ACD = 60°, Find LACB
and 2BCE
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D C E

2. PQRS &0) qonommalsaoem. £P = 70° @o@ood ag GH06Myd 08 &06m)d:.

PQRS is a parallelogram. If P = 70°, find the measures of the other angles
3. alll@@®@d MN, OP ag)m’ ru@0MmOIO®:68 ?)0lafidSee)an aoosm QR.

£LMSQ = 80° @p@o@d £PTR, Z0TR Q1 &6n3)ailS1ee)d..

In the figure line QR cuts the parallel lines MN and OP. If zMSQ = 80°, find

£PTR and £0TR.

Q
M \ N

S

2,

4. 2loomled AB ©®e elosniao@ mym) auesgoem, CF, DG, EH. 2 CFE = 50°

@I
In the figure CF, DG and EH are three lines perpendicular to AB. If ZCFE = 50°
F G H
\O
ATC D E B

(@) £CFE ©@#6 ©)elya0®@ cH6M)H08 age®aloo?
Which are the angles equal to 2CFE?

(b) £FEC ag@?
What is the measure of ZFEC?

(c) £GOE ag)®?

What is the measure of 2GOE?
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10
5. all@ooed PQRS aimyoaosny. 2QPR = 25° epwocd 2PQR, 2PRQ, 2PRS
HAIWIOS BRSO U3 H6N3)allS1ee)b:.

In the figure PQRS is a rectangle. If ZQPR = 25°, find £PQR, £PRQ and 2PRS.
S R

P ) 25° Q

6. alllmomlcd PQ, RS soau cquascmomoem. C wlwd mlay CA, CB agam oene
Ues0d PQ @leaiss aioafloles)mm).

In the figure PQ and RS are parallel. Two lines CA and CB from C are drawn to

PQ
A B

60° / 65°
R C
2RCA =60° 45CB = 65° @o@o©d

If LZRCA = 60°,2SCB = 65°
(@) AABC ®loal agald ¢:06myd8)o &6ne)allsles)s.

Find the measures of all angles of AABC.
(b) £PAC, £CBQ paiw)es @rsal@:ud &6ne)alls]es)s:.
Find the measures of ZPAC and 2CBQ

230nI0n CadB)6UBUD (Previous Years Questions)

1. alll@momed PQ cvacocmoaoen RS. 2QPZ = 110° 2SRX = 120°, ag)®»)@d
¢XYZ o3 @rgal ag@?
In the figure, PQ is parallel to RS. £QPZ = 110° and £SRX = 120°, Find £XYZ.

X p Q
Y
z R S
(A) 70° (B) 60° (C) 80° (D) 130°
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11
2. 2 I@O®@3 3©) moomco’l&;m’lar@ Qile>@6mMeBRU3 @RMIOM Mol (@1GHH6m
683801 ROV floleeyM). LQSR = £RQS, £PSR of)®?

In the figure, a parallelogram is divided into four triangles by the diagonals.
£LQSR = £RQS . What is £PSR?

S R
90°
35°
p Q
(A) 70° (B) 110° (C) 125° (D) 130°

3. ©NZ)  MURXMMOOIOHOS  AOQI0) QIO 2)0laf)HSEOYCMUIL)NROW  60)
c:o6mlomg @egal @mldlenmm). X, Y ©)6S Gr86IND?

Measure of one angle formed when two parallel lines are cut by a third line is

given. What are the values of x and y?

[

X AN70°
(A) x =70°%y =110° (B) x = 70°y = 70°
(C)x = 110°y = 110° (D) x = 110°,y = 70°

4. 2j1es 60510186 2fl(@@m1ed AB, CD ag)m’ Alos:08 quadnm o389
em. e&oemd ABE = 120°, e®0emd CDE = 140°, e®oemd FEG wyes eegal
ag)®?

In the figure, AB is parallel to CD. ZABE = 120° and £CDE = 140°. Find 2FEG

Smart FOCUS INTERNATIONAL COACHING CENTRE | VII - MATHEMATICS | 9567628177




12

A B
120° F
\E
140
C i)
G
(A) 100° (B) 20° (C) 120° (D) 140°

. afll@o eamo®e). AB cmuaoamoo CD, ¢s06n3 CDE ag)@?

In the picture, AB parallel to CD. Find the value of 2CDE

A C
110°
B D
25
E
(A) 85° (B) 45° (C) 155° (D) 135°

. @) MUROMDEAUCHOS B6OQI0) QU0 @)0laf)HSINEAIP)EMEIW EH6M)H 16
630) GH06N8 35° @R). 35° @R8ANSS OF @ CHIMH:UD alll@alanens?
One angle when three parallel lines are cut by another line is 35°. How many
other angles are there in the figure with measure 35°7?

/\3 5°

/

/

I
(A)3 (B) 5 (C)7 (D)9
. afll@omod £A = 60°, 4B = 70° @oy@o@d LACD ag®?
In the figure if A = 60° and «B = 70, what is ZACD?

A
60°
B \70°
C D
(A) 60° (B) 70° (C) 110° (D) 130°
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8. all@@®ed ABCD 80) muononm@lenoem. LABC ag)®?

In the figure ABCD is a parallelogram, What is the measure of ZABC?
DS C

A B
(A) 80° (B) 100° (C) 110° (D) 120°

9. all@mom@d AB @se auaomoaosm CD. PQ agom cwo AB e R eno, CD

o S enjo M0Ola] &HSHO)M).

In the figure below AB is parallel to CD, The line PQ, cuts ABatRand CD at S

aljaues @mMIlen)mMa1cd 180° @es @)RIJNIW® af®?
Which of the following is equal to 180°7?
(A) £ARS + £CSQ (B) £PRA + £QSD
(C) 2PRB + £CSQ (D) 2PRA + £CSQ
10. afll@omlcd AB, CD, EF agom ctosud cuaommoaoen). £x e @RSOU®?

In the figure AB, CD and EF are parallels. What is the measure of 2x?

/

A 8507/ B
C / D
E Fx F
(A) 105° (B) 95° (C) 85° (D) 75°

7
%
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o BlMM06L)& (B (FRACTIONS)

2560330 3eMMAIe (Multifold and multiplication)

o 2+2+2=................
e 2x3=
..................... 0 avoeoin, g
o aam v "
e 260M 3 0S688 = .o 'f“"’""’", Subtract; 4 (O.ﬂm B
o ivision Clion, Multq)licatio
3times 2= ............. "M s ggny ®.aig) iy
mg@ofm)u y{e1o775)
e 3+3+3+3+3=........
e 3x5= .

) 36)(1'3(@)586BT§= ..........

5times3=.............

| ag@od 10 ASEY
88 nNIEMML1glos
MMID] alO]eN 3o

B T N I (e

. 1
5times-=............
4
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9BaNOMEBRST8 62l OMM)CalIOR! 6)alQ))d:.
Do as shown in examples

. 1_ 1
930 (Eg).5+5—55

~
+

°
co
+

[ J [ J
— O
+ o+

]

[ ]
=
+

[
~N
+

°
<o
+

[ ]
=
+

[ ]
— O
+ +
|
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VY GalaE@R MMIS]
alelmQIem QSIS 3o,

DMEOMBHIW)0 NIEMM(HQWWIW)0 allQ))d:. saaovlee g

Mo amavlasansad

Do mentally and as a product. |wodlanzon

9c9 (EQ) :%x 3

. 08 &16RI0(%0 AUT®o BIOMSS M6NE) HaH6Mo ABMEBBWIANS @RYOdE: B0
af)l® &IGRID (NOMOEM? MOIRI) BHaHEMEBBRSB)OS BOOGR? @RYO) B> aHUEMAIWIGRIO?
Each piece of a pumpkin weighs a quarter kilogram. What is the weight of two

pieces together? What is the weight of four such pieces? Six pieces?

. 80) &afled myanleanmm) ellgd a10@d MoWHHI0. M) Hafldd GO ag)(®
ellgd MloWeedo ? Moel daflealo?
We can fill a cup with one third of a litre of milk. How much milk is needed to fill

two cups? Four cups?

. 2}660@3 2798 Aflmo MI8MS8 MRl HaHeMo MISW)ES @RYOE MIBo ag®
27Q006M ? @R &HaHEMAIWIELIO?
What is the total length of four pieces of ribbons, each of length three fourths of

a metre? What about five pieces?

. o 1
. 80) SHSIVLLIODIM alj0lo B0) (alOQUUDjo MSHHOD v 26m1ee)d@ VAo
GQU6Mo. VE® GUNDOMIMTS
(i) 4 (0QUUD 0 MSHHIM af)(@ VAo GAUEMO

(i) 7 (oaIVDy0 MSBHIEMO ?
It takes % hour to walk around a playground once.

(i) How much time does it take to walk 4 times around at this speed?
(i) What about 7 times?

1 1 1 3
_+_+_:_
5 5 5 5

°
X
N
Il

°
X

w
Il

°
X

S
Il

°
X

N
Il

WIN Wk Wk W]k
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939 (EQ) : ? =

Juny
(o)}

18+2 18 | 2 _
3 3 3

)
lo wlw 4

|

|

18

N
wl|2

2 x10 20

9(30(Eg):§><10= ===

3 3

e Ix10 =
9

3 3

7
e —-X2 =
3

3
e -X7 =........ = e = e ST . . =TT - - - - =
4

1. 80) MO)M)BHIWIOS @IV i &16RI0(Omo6M ?
(i) O™ 15 BHSBHSIOS HROTMO B0 )@ &IGRIO(NOAIEM ?
(i) 16 ;gB-8)OSEWO ?
The weight of an iron block is % kilogram

(i) What is the total weight of such 15 blocks?
(ii) 16 blocks?

2. 2 2198 MI8M88 $)C0 HMIHUB BOEOIM)0, RGO MISMSS 5 EINEERSIW]
2)012)).
(i) 89600 BauMOBIOMBW)I0 M0 )@ 21Q0o6N) ?
(ii) 4 ouEMEBBEE6S @ROH: MIBo af)©® algooen) ?
(iii) 10 ®aHeMEBBE)HSEWO?
Some 2 metre long rods are cut into 5 pieces of equal length.
(i) What is the length of each piece?
(i) What is the total length of 4 pieces?
(iif) Of 10 pieces?
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3. 5 2108 0@, BEO GalNERIWBS 6 d)afleglod Ml0ay).
(i) 80600 Byafllano ag@ 2lgd aloenens ?
(i) 3 ®ya/le8ld @res af@ eflgd aloenme ?
(iii) 4 @yafle-slealn ?
5 litres of milk is filled in 6 bottles of the same size.
(i) How many litres of milk does each bottle hold ?

(i) How many litres in 3 bottles together ?
(iii) In 4 bottles?

BRYMNIZo IMMARe (Part and multiplication)
1 _ 1 _
930 (Eg):66)rr§)5@omo—3 66)(@5@00)0—2

§d6:3 lof6=2

1
Beoem=-eoo=...........
o2

HOT S-S/t el
2

1
Bem- .o =...........
0 4

I
o
=
oo
1

°
—
(@)
9]

oS
|
0]

o
S
(e}

|

)
WY
o
9]

o>
ul | =
D]

(@]

S

(o]

|
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e 6X= = ...
3
o 6X: = ...
2
e 8X= = ...
2
e 8 X% S v Gaaj@rK acivIgomlelgs
odlaglerge aleimaiem QIS jana’
e 10X = .......... aglban Hoquie-glob mamos]
2 SalHE1D Jo
o 10X= = ...,

1. 8Mai®) 2198 al0@d, @)M) H)SIHUdes 6O)Galoeal alldlaf). B0) &*)5166

)@ 2198 alo@d &lg)0 ? Moel Galdeeem Al@lee)MmemEslcald ?

Nine litres of milk is divided equally among three children. How many litres will

each get? What if there are four children?

2. @R0) &IGRINNJ0 @RAIl, B0)GalINRIW)8S @A) MUMIle:S]RI0es]. 60600

querailileno ag)@ &1eeIoMde @RS ? Moal) mueile:sS1anes1wosald ?

Six kilograms of rice was packed in five bags of the same size. How many

kilograms of rice in each bag? What if it is packed in four bags?

3. ag9) 2198 MIB@SS 210S, @RHO) TVAGINEEBBILE]. 60} HaUeMOTO3 MISo

af)@@O6M? @M)AM) TVARINEBBBILHWOGRIO ?

A seven metre long string is divided into six equal pieces. What is the length of

each piece? What if it is divided into three equal pieces?

1
e S5o0mM-@Wo = .coiviiinnn...
0 4

I
o
=
($)]
I
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27 _ 2443 _ 24

o0 (Eg): 2 =22

4 4

1. 80} oMV 35 &»)S1H@) 6. D@ 3 OO OAINBEH)SIHS06M). &HOMIIGE ag)

(@ ©altNdd)Sle8)6NnE ?
There are 35 children in a class. %of them are girls. How many girls are there in

the class?
2. 10 16100 @RO] 8 MVE&:S1T8 B0)G~l1eal M0a]). GR®IGE 3 muaailwleal

@O BM162JSITMOIM af)(@ &1CRI0(NI0 @R ?

10 kilograms of rice is filled equally in 8 bags. If the rice in 3 such bags are taken
together, how many kilograms would that be?

3. alllmomleel QJ@;(ommﬂ@(Tg nJ(O(HQO:IJ, 27 gJ(o);(owos)cm(r(o)i’]“]goosTﬁ. @u®1em
B0)6allpLIW)88 9 RINERBILHIWIBlE6)M).M00 &S)aflajldleeyon oM@
603 o_l(()gdg(ﬁ ag)(©@ gJ(G)g(oLuoa(m(rg’]ﬂgooeTﬁ ?

The area of the rectangle in the figure is 27 square centimetres. It is divided into

9 equal parts. What is the area of the darker part in square centimeters?
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RO RINoe (Part of part)

N |-
X
|
Il

[ ]
Wl
X
|
Il

[ ]
SVl
X
vl
Il

1. a1®)068803 (U], DD N}EMMANLIEBRUD &HEMBOIE) 5.
Draw rectangles and find these products.
N1 1
(i) =7
a1 1
(i) 3 Xz

(iii)% x%

2. 80) 2198 MI80)88 210S, @RI} MVARINEBBSISS]. @RGINRIO0) B aUENOEBTNY
ol @)es MI8o @ a’19ooen) ? 6aVaElalgolEd aloeTmocald ?

A one metre long string is divided into five equal parts. How long is half of each

part in metres? In centimetres?

3. 80y 28 1@ 860 QL. MS8s 06M) ®)afle:glcd Mloa). E@rGeaI)
H)a{l@)es ST CIVORASITD 210VWW)EMEIBE]. af)[@ £100 «l0eRIS)E®IEM
2100QW)6ME661® ? alefleilnoled alosmmoseld ?

One litre of milk is filled in two bottles of equal size. A quarter of the milk in one

bottle was used to make tea. How many litres of milk were used for tea? In

millilitres?
2 1
® — M- BINO = ...iinnnn.
3 05
2 1 8.219GJ@RD QI I o
® — X<-=
375 HI@@BD Vo [Nl
s 4 EDIM o |PAV]LNIAGEID 2
° 3 X S T e
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. 0ne) 2798 MIsM88 HWAE, B8O MISSS @6 HHaHeMEBR8OW ?2)0lay).
DONORI00) HaUMOTIOM 2H600 CONOAMION MIB0 af® ﬂgooerﬁ ? OO
)@ 6©IVIa’10006mM?

A rope 2 metres long is cut into 5 equal pieces. What is the length of three

quarters of one of the pieces in metres? In centimetres?

. 2y 2flgd eaI88o, BEOEAIINRIVIS8 MRl dlafleéglEd M0a)). @R®IeRI0O)
S)aflloal 6880, BEROCAIORIVIBS @) Gal)dSlEd M10a)). DEaJOUd 6©)
Hafldd ag)©@ ellgd eaIgs?)es ? @R g alefleilgooem ?

4 bottles of the same size were filled with 3 litres of water. One of these was
used to fill 5 cups of the same size. How much water is there in one such cup,

in litres? And in millilitres?

. Moel)  &leaie  BIEMBS  OEIACMEEE, BEOCAPRIVISS @R
HaHEMAOHE]. @ROIGE B0} daHeM@EIOM QIlNS)o ald)@1WIHE. D o)

B aUEMEBBEBOGOIMIM)0 af)(® &IGRIO(N00 RIODYENE ? @RM af)l® (NORJEM) ?

A watermelon weighing four kilograms was cut into five equal pieces. One piece
was again halved. What is the weight of each of these two pieces in kilograms?

And in grams?

. 80) al)(@ODIE3 M02] ald@d BEO ARS8 B)(M) B)aflesS1od M0ay). 806D
Slafl @orIW)o ald@d B8O AULNAMSBS MIRl) Ha)dsS1ed M0a]). 80) Haflay
88 ald00, @RYBLOOI Ald(OO6EAI moeﬂem@) )@ @OWAOEM ?

A vessel full of milk is used to fill three bottles of the same size. Then the milk in
each bottle was used to fill four cups of the same size. What fraction of the milk

in the first vessel does each cup contain?
2
. 12 6312798 MIB8EIE8 AB ag)m o W) H. AB W)6s 3 comow AC

@RSWIB 6o |S)OM)&. AC W)eS i 8020 AD @RSWI8eH|S)O™)H. AB W)es
)@ @owmoeMm AD?

Draw a line AB of length 12 centimetres. Mark AC as % of AB. Mark AD as i of
AC. What part of AB is AD ?
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6. 2QOS al0EEIBIENIAN BIMEBBU3 IEMM(BIVWIRNHS BHEMBOHIBO) .

Calculate the following using multiplication

()=em = @wWo = ......... (i) = ®#d = @owo
Sofi= . Sofi=
7 5 5 7
(iil) = ®0d = @oWI0O = ......... (iv) % O = @00
Zofd= Sof =,
3 4 6 10

alenz)o ailel 1)eMM Q& U3

More on multiplication

24

o 1-X4= ... .......o......
2
o 2-X3= ...
o =65 = . T oW
o DB 3o /A
2
o SRERE 3 N NH NN
2
e 5- X3 =gam. 4.0
© 2X3== i
2 —
c ol Taegen HQ6g) CRRD@RSL
S OXALT amaylab 6bOm @SN 619D
1 1 e aleimaiem Qev]sf avjeve
® 2 X3.= SOD®@s H:&)ROWIH wealanzacero |
o 2ix3i= . TR
2 4

. 80) ®>)ajo@o @)MOM3, MO 2A198 @M1 GAIMo; GREMEAIIL)SS @R6)

)| 0@EDIN) ag)® @)6m EGaeMo?

One and a half metres of cloth is needed for a shirt. How much cloth is required

for five such shirts ?
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. 80) &ICRIO(I0 HAMEEOW)ES Aflal, B)a|®) O)al. CEMEO &1ERIdWIA]M ag)®
©)al@Odh)0?
The price of one kilogram of okra is thirty rupees. What is the price of two and

a half kilograms?

. 80003 &30) 26MeH)01Td MO &1erlalgd MSEHEe)o. MWD CAUNOEDIGE BONO

26m186)8 OHETE af)(@ &1celoa’lgd msee)o?

A person walks two and a half kilometres in an hour. At the same speed, how

far will he walk in one and a half hours?

v A 1 A
. 6006MIW)ES OB 28 MUQIMNME. @O 25 DSB8 @O 66w

2)OMEMMIEM MVa0l0 alOWIONG), GREM(@WIENM ?

Roni has 36 stamps with her. Sahira says she has 2% times this. How many

stamps does Sahira have?

. eoz] aslaumrale 4% pemlee)d e=oell eal@)o. 6 AlAUMio OBIME ag)®

26em1ee)@ c2R0eil 6alQ))o?

Joji works 4% hours each day. How many hours does he work in 6 days?
. 21JQUOS al0EmMIG1E6)MA &M EEIH) b>.
Calculate the following

() 55 013 4 asea’ (4 times 57)
(ii) 5 003 4§ ass (41 times 5)
(i) = 603 1§ aseay (17 times 2)
(iv) 2 % W)6s E QS6813 (E times 2%)

(v) 5% )6 2% 0see3 (Z%times 5%)

Smart FOCUS INTERNATIONAL COACHING CENTRE | VII - MATHEMATICS | 9567628177




26

flmaieai (Fractional area)

X

X
wWlmw Yk ulpr
Il

..........

Wk N|R

°
Ul
X

..........

NlRr W]k

..........

e 11X10 X=X== ..........
23
v 15 SMARTESY. )
3 2 6
1. aflal aieeBg)es MIsa)o Al@lW)o 2ajAes al0emmIElee)aN). E06EIN]
O©3W)0 aloal8al B6Ms)allslee)s. :
The length and breadth of some rectangles are given below. Find the area of

each :

(i) 32 ema3n’oad, 42 oruaReod (3l centimetres, o centimetres)
4 0 (o] 2 (o) (o] 4 2

. 1 3 1 3
(i) 5- 298, 6= 2198 (5= metres, 6= metres) al@sigailod &lan
3 ° 4 ° 3 4 Voa &b Q@I
VIO 21EBROD

1 3 1 3
(ili) 17 o"96, - al9d (17 metres , — metres) amalenmge

2. QIUoEBERE)eSe®Ealoo M8o 1% 2703 @ERW mmg@gmmﬂaﬁ al0a80] OO
em?
What is the area of a square of side 1% metres

3. 80) MRI®EOBTIONE 2))08al, 14 27198 ; RGO aloal8aT ag@WIEM) ?
The perimeter of a square is 14 metres. What is its area?

K/
0’0
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(018SI6M6EUBLY (TRIANGLES)

27

masi(® ail@o (Star picture)
» o1 2®eesud aoses)s (Draw these pictures)

(B - XX

(iv)

(vi)

NEWIo &6MeeYe (Lines and Math)
» DD HMEHUB HalW®) GMIBS).

Try these problems

1. Qo6EBRE16S MIB0 ag)EIN@BIV0ELHSIW (GIEHIMOM]OE E6NS QIUEEBRE)OS

mI8o 5 e©aVadla’lgoje 8 eaMValgoje ERPWOIE @MIROOD AIVDOB M

(Tﬂ@o Q{36)0)06)d36) (TUOG).I(,SG))O:B;OO?

The sides of a triangle are natural numbers. If the lengths of two sides are 5

centimetres and 8 centimetres, what are the possible numbers which can be

the length of the third side?
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2. QOEBBEYOS MIBo  af)FM@MVOGHSIVW  GB0) (OIECHEMOTION 6N
alweBges MIgo 1 emuadla’goje 99 emuagla’lnoje @M. @)oo
UEeM MI8o ag@WIEM ?
The lengths of the sides of a triangle are all natural numbers and two of the
sides are 1 centimetre and 99 centimetres. What is the length of the third
side?
3. 2jAUOSW)88 ©)368B8103 (@1EHH6Mo MIBMIHHIM8 HOIWIMM @RS B> UB
ABO®IOBOWIEM ?

Which of the following sets of three lengths can be used to draw a triangle?

(i) 4 ecrv.27, 6 &L.2, 10 &V.27 (4 cm, 6 cm, 10 cm)
(ii) 3 &L.27, 4 V. 2, 5 ecv.a1 (3 cm, 4 cm, 5 cm)
(iii) 10 ecL.27, 5 eL.2, 4 &av.21 (10 cm, 5 cm, 4 cm)

4. 0D 2f|(®6BBU3 UOWHN) > :
Draw these pictures :

eaem &emame&ud (Angle math)

» 0 2o AUOBHIMO®EBBOM ?
How can you draw these pictures?

(i
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(iii)
NIRERS30 6IM}&830 (Sides and angles)

» 00 2l®EBBU3 AUOL)d:.
Draw these pictures

(i) \ (ii)

-~

(ii) " . (iv) .

O

50° (50° 70
(V) 6 cm 4 cm

1. QueeBg)es MIso 3 cm, 4 cm, 6 CM ERW (BIBH:I6Mo AUOLE)b:.

Draw a triangle having sides 3 cm, 4 cm, 6 cm

2. 80} UoEmlend MIg8o 4 cM 2o @R@1MBea®d 40°, 60° cHeM&HE)88 AUYOITV®

(@]@HIMEBBUB AUOBO)B. af)T® MM ?
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Draw a triangle with one side 4 cm and angles 40°, 60° on this side. What do

you understand?

. @62 AUoEBR8)es MI8o 4 cm, 8 cm, @RAIW)eS Mswileal o6 60°, @R &

©) (@®]BEH06Mo QU HE) b.

Draw a triangle with two sides 4 cm and 8 cm and angle between them is 60°.
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nilale1® FlM6URU3 (RECIPROCALS)

RYNNRo 2S60R30 (Times and Part)

26)(@35667‘3’ S

3timesof2 = .............

26)(T3(@)4®SGGBU S s

4timesof2 = .............

1
86omM - @00 = ...ceevnnnn..
04

1of8 = ...
4

56)(@)35667‘3’ S

3timesof5 = .............

156)(1?3l 290hd = MU .. 0
03

{OT/ 15— Ll o
3

10 eflgdlead 3 osevi

3 times of 10 litre

10 eﬂgo’la«g 2 ms6vi3

2 times of 10 litre

10 eflodlead 1l OS6BE = ..ieraeinnnns
o 0 T2

1% times of 10 litre =

15 eflgolend 1 @oNo
of 0 3
gof 15 litre
15 eflgolend z @oWo
o] 0 3

%of 15 litre

4 Rlen 2 0sévi3
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2timesof4 = .............

14 v _
° 46)(T§TS6GT3 .............

% timesof4 = .............

2 timesof14=.............
14

7 \v)
° 46)(1‘3(@)5862% U

% timesof4 = .............

° 146)(@3@00)0 S s
7
2of14 = .............
7

. 46>n'3(@)31m56m‘3'= .............
2

3 % timesof4 = .............

1 M)2W)6S OB 18 O)al®)eNs. Mal01eM 666W16s 4 0)alw)o
(i) ew)es 666:0enss8®1e0d ag@ WM ManldleM 6eHwlenssd ?
(i) Man’101608 HOBHWINSSTOM )@ ASEBRIEM MVIAW)ES HOBHWIL)SS®?

Suma has 16 rupees with her. Safeer has 4 rupees.
(i) What part of Suma’s money does Safeer have ?

(i) How many times Safeer’'s money does Suma have?

2. el cueilled 9 &IGRIN0  AleRUMVOOW)ME. 6210l  muerailw]od

6 £ 1GRIO(NIM)o.
(i) ®a10l@ aueilenssTlen )@ asesoem el rvaawlcd 9880 ?
(i) alelo mamilolenssoleond g coVatem ealdlw Ml 28s8® ?

A large bag contains 9 kilograms of sugar. A small bag contains 6 kilograms.

(i) The weight of sugar in the heavier bag is how much times that in the lighter
bag?

(i) The weight of sugar in the lighter bag is what part of that in the heavier bag?
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3. 80) OYMI) HFW)ES @200 6 B1GRIN0, BHQIV) HSWIOS B0 26 HIELIO(NJ0

(i) ©210l@ &H3W)ES @O0, ULNW HFWIOS CIOTMIOMG ag)(@ COVAVEM ?

(i) el &3W)es @00, H2101W GHSW)HS BIOOBIONY ag)(® ASEERIM) ?

The weight of an iron block is 6 kilograms. The weight of another block is 26

kilograms.

(i) The weight of the lighter block is what fraction of that of the heavier block?

(i) The weight of the heavier block is how much times that of the lighter block?
4. 80) olentemlend m8o, 26Qo0) Hal0l® Olentemlend misomlend 2% DS6EBBO6M.

0a10l@ dlentemlem Mo ae)dleng «g@ coWadM) ?

The length of a ribbon is 2% times the length of a smaller ribbon. What part of

the length of the large ribbon is the length of the small ribbon?

©1Rla3o 20lsRo (Topsy — turvy)
e 20034 os6BE = .............

4 timesof2 = .............

1
e 86M— RO = .iiiiininnnn.
0 4
1
Sogci==s § \ § . ¥
4
1 o
® S WPOS 3 @ASEEE = ......iil
. i
3 times of; el L
1 v
e 1;09s 2 @s688 = .............
. 1 _
2 times of 15 e
3 o1
® AF®) MLOELIW)ES " @0(N@o6M 2 ?
3 .1
ZOf what number is > ?
4 L1
® AR®) (MoEIIW)OS 3 MS6BBI6M 5 ?

4 .. 1
3 times of what number is > ?
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. 80) ROMVIeal 27 H1SIHUBB6 HEMESITE of) U &5l oA GHomileal
&)S1H816S Z £OW@VEM. HOMUIGE @O ag)(® H)SHS)eNs ?

27 students of a class got A plus in Maths. They form % of the entire class. How
many students are there in the class?

. % eflod eaI8so 6128 oud 80) d)aflw)es g B80Wo M061m). &)aflW]@d ag)®
eflod eal8so 680880 ?

%of a bottle was filled with % litre of water. How many litres of water will the bottle
hold?

. 6B0) oJoL@(ms)'l@(Tg % @00 @mggasgmcsgdoua 1% eﬂgoom)'l. Ald(@ O @3
M0OW HASBOAS)OMIGD )@ 2/10008)0?

%of a vessel holds 1% litres of water. What is the capacity of the vessel in litres
if it is completely filled with water?

. 860 MI8M88 @)M) MISHEIE3 CHENENAN 0, 2)MIAECODD]ONY ald)@IW)o
@ROCOMISQo  GalBEM)(UalGaoUd &80) 2190w 80) MISWeES MIBo Ag®
oauagla’lgooen)?

Two of the three ribbons of the same length and half the third ribbon were placed

end to end. It came to 1 metre. What is the length of a ribbon in centimetres?

glam aNE6Mo (Fraction division)

1. 5 Mm@ 6 40 ©)al 80) GalM)eS Aflal ag)(@oem ?

The price of 5 pens is 40 rupees. What is the price of a pen?

X

X

[ )
WIN Ul Ul NIRr N|R
Nlw o Alw o Ajw AW oMW
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X

X I
alNn vy N w

OIN ©OIN wlN

. 16 27938 MIsMss8 60) Sl 2 2708 MISMBS  HaUEMEBRBIESI W@, af)®
SO 6BBSB) 612

A 16 metres long rod is cut into pieces of length % metre. How many such pieces
will be there?

: 5% eflgd@ eaIgso % elgd afl®o 6HH88)M B)afl&Elelosnemo. ag)(® B)afleud
GQleMo?

How many % litre bottles are needed to fill Si litres of water?

: 13% &1GRIO(NJ0  AlErUMVOD 2% &leannwde Aflomss qveileglelnssasmo.
af)(@ uerileud @aIeMo?

13; kilograms of sugar is to be packed into bags with Zi kilograms sugar each.
How many bags are needed?

. 80) al®EO1eM3 aldajsal 22% al®)Ew0eMEIa1g0)0, @®IOM 80) AUWOD
o3 mIgo 3% eauaglalgoymoe). acg Alwo@Blend MI8o ag)@WIEM?

The area of a rectangle is 22% square centimetres and one side is 3%
centimetres long. What is the length of the other side?

: 11% 270@ MI8M88 B0) HWOIGI mlam 2% 2708 MIB2)BB )@ EaUEMEBRUD

2)0102JS)8600? alajo ag)l® 21Q0)6NEIH)0?
How many pieces, each of length 2 % metres, can be cut off from a rope of length

11% metres? How many metres of rope will be left?

/7
0.0
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BRIoBEIMS U3 (DECIMAL METHODS)

37

B®IoREI60RUY (Decimal forms)

» 30000000 AIOTTD af)9)®)D.

Write in decimal form.
43 _
10
439

100

4391
o — —
1000

476

[ —_—=
10

476

o — =
100
476

o — =
1000

476
10000

325

o — =
10
325

o — =
100

325
1000

> 9Ba006Mo GMIGS] amJ1aNes] nIoEeIWSSAI ©alQ)d:.

Do as show in examples
030 (Eg):325=3x100+2x%x10+5

- 325.746 = 3><100+2><10+5><1+1><1—10+4><$+6><L

1000
1. 743 = ... o o
2. 4365=........... o F o F o
3. 764.2356 = ........ + o + . + . + o + . + o

» @M IUo6U O] GBI ®)d>.

Write as fractions
1. 327.45

2. 456
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3. 45.06
4. 45.67
5. 4.506
6. 456.07
25603 (Multiples)
> 2980T &:6Me606e)s.

Find perimeter

425 m

12.85 m
1. 5+44 +3.78 ¥ 6 A3smnipam [ty
2. 7.36 + 7.36 + 7.36/= :.... 002 i dme i 3e e 1 2 e

3. 80) MRAIURROMIOE 2l(@206N) 2jAOS 6BIS)OBICIHO)M®. DGO

20801 HEMBHIHO) .
The figure below shows a regular pentagon. Find the perimeter of the

pentagon.

235m
4. 80) 3)SVHS UBS OWHHIM 1.45 a’19@ @61 calemo. 4 aHBSIN) af)(®

2798 @)em1 ealemo?
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A kid needs 1.45 metres of cloth for a shirt. How many metres of cloth is
needed for 4 shirts ?

80) queil1@d 4.75 #1610 @RO] MOWEH0. DOMOo 8 MBS 3
@ROB af)(@® &1GRI((o @RE] MOWEIo ?

A bag holds 4.75 kilograms of rice. How much rice can 8 such bags hold?
80} alo(@omleal 6SIOaleN 6 &)aflegled M0a]). 80) B)afl®d 0.75 2l9d
OH088)0. Ald(@OMIT @YD )@ LN08 e 2eMRIWloymm)?

A vessel full of oil was used to fill in 6 bottles. Each bottle holds 0.75 litre.

How much oil was there in the vessel?

BUdo@ (NJ6MMo (Decimal multiplication)

1.

2
3
4.
5

8.5x6.5=.............

034 x11.6=...........

. 6.25 27198 miganoe 42 27198 AOWMSS 2I®EOWONR o8l ag)©®

21®)O(WOR"19006M ?
Find the area in square metres of a rectangle of length 6.25 metres and

width 4.2 metres

80} alaflellgd eaISloleNWIeS €000 0.91 (WJo @REM. 10.5 alaflellad
oS0 2JFIPW)OS BIM0 af)(@ (N0 @R ?

The weight of 1 millilitre of coconut oil is 0.91 gram. What is the weight of
10.5 millilitres of coconut oil ?

630) eﬂgc& amcscsog’l@ag afler 110.12 ©)ai@o6n). 25 eﬂg@ @oJcsLsog’la(rg adlel
) @QOEM?

The price of 1 litre of petrol is 110.12 rupees. What is the price of 2.5 1itres

of petrol?

memm (SlweW (Multiplication operations)

1.
2.
3.

314 x12= ...,
314 x12= ...
314 x12= ..
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4. 314 x012= ...
5. 314 x12= ...
6. 314 x1.2= ...

7. 1234 x 56 = 69104 @oem. 2))AIOS 6OBISYEMICIEHNMN &EME)BHB)6S
OO O0, 1N}EM12))EMILHIOD AlOW)d:.
Given that 1234 x 56 = 69104. Find the answers to the following problems
without actual multiplication. Like this, how many products can you find
which gives 6.9104 ?
(i) 1.234 x 56
(i) 12.34 x 5.6
(iii) 123.4 x 0.56
(iv) 1234 x 5.6

8. ajesWI88 W)emmesBsled, 1.234 X 5.67 agim wm)emMantlo @AM
H1F)MA! aBO@LJOM06M?
In the following products, how many of them gives the same product as
1.234 x 5.67 ?
(i) 12.34 x 0.567
(i) 1.234 x 567
(iii) 0.1234 x 5.67
(iv) 1.234 x 56.7
(v) 123.4 x 0.0567

9. a)AleS 6BIS}OMIC1E)MAUWIG aggaio Alalle !)emmanalal)o, agQal)o

£2101@ M)eMManiQl)o & 6n3)ailSlee) ..

Find the greatest and least products from the following :
(i) 0.11 x 0.11

(i) 1.1 x 1.1
(i) 1.01 x 1.01
(iv) 0.101 x 1.1

(v) 10.1 x 0.101
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BIN6URUD (Parts)
.10 2198 migmss 80} HOO M8 (VARINEEBRSIES.  BIGOD
B aUEMOMINBO0W)0 MIBo ag)(@WIEM ?
A 10 meter long rope is cut into two equal pieces. How long is each piece?
2. 248 oqu.a’l MISYSS 60} 2l0S OBHIMNE GO} TVAIGIOREMEIBE]. @RGSO
QUUOEBBELOS MI80 af)(@@o6M)?
A square was made with a cord of length 24.8 cm. What is the length of a side?
3. 232 omu.a’l MIBMBS B0) 2l0S OHIMNE BO) VRGOS @RGNONY
QUU06BBBIOS M1Bo af)( @M ?
A square was made with a cord of length 23.2 cm. What is the length of a side?
4. 344 &IGRIO(N0 @RA] 8 Gal@ed &B0) Galoeel allMla)). B0IU3EE of)®
&1GRIO(NJ0 @RO] &151?
34.4 kilogram of rice was divided equally among 8 people. How many kilogram
did each get?
> (] 621Q))d (Do these problems)

1. 10 =" L8N
2. 045005 - - O

3. 104 -2 = ..........

10. 80} MOERYR(@IEHINMOETIOM anas8al 12.9  6IVTIATINO0o6M.  BICOO
QUEB1OMBW0 MI8o af)l® 6MVaBlaTgoosem ?
The perimeter of an equilateral triangle is 12.9 centimetres. What is the

length of each side ?
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11. 16.5 &1GRIO(N00 @RA] 5 GalBHH 60)Galorl AllMla)). 60GOIV)EMAL)0
af)(@ &1GRIO(J0 &151?
16.5 kilograms of rice was divided equally among 5 people. How many

kilogram did each get ?

12. 80) el al@omlcd 25.2 2lgd @mgie)%%oo)gm‘é. OO BCO @RSANTD
6 ©2101® a(@EEBEITS B¢la]). BIGOI AlO(@OM]R)0 af)(® elgooem ?
A large vessel contains 25.2 litres of coconut oil. It was used to fill 6 small

vessels of the same size. How much does each small vessel contain?

13. 33.6 H1GRIO(UNJ0 @RE] 8 Gal®@ M)AIYAIW] AlB162S)E®). MVYRIG OM1HEe)
sIslooleom Mol 8oWla], 80) BIMo OMVIQWEE 6&IS)Em). OMUIW
O HISIVO af)(@ HICRIONIA06N) ?

33.6 kilograms of rice was divided equally among 8 people. Sujatha
divided what she got into three equal parts and gave one part to Razia.

How much did Razia get ?

14. 7407 + 6 = 1234.5 agm® 9alcWoUila], a)AOSAOWIMN EHEMBO}HH U3
a0@la)) BMILHIO® alOWOCRD ?
We have 7407 + 6 = 1234.5 . Use this result to find answers to the

following questions without actual division :

(i) 740.7 + 6
(ii) 74.07 =6
(iii) 7.407 =6
(iv) 0.7407 + 6

(v) 0.07407 =6
rakmmgo BUoWNJo (Fraction and decimal)

1. 9 equ. 21 MI8M88 B0) H-OA 860 MISMBS OMNE BHaUMEBRSOIW] @)0]
af). 60} HaUMOEBIOM MIBo ag)( @O ?

A9 cm long wire was cut into two pieces of equal length. What is the length of each?
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» 3000000 ©)alOORIP)®)d:.

Write in decimal form

1. 1=
2

2 o
5

3 Lo
4

4. 3=
4

5. L=
8

6. S =
8

7. 2=
8

8. L= ...
8

9. 2)IOSWI88 EIMIVO6UHS)OS BUdI0UD0)alo & 6N3)allS1ee)d:.
Find the decimal forms of the following fractions.
. 3 o S q
(i) 2 (ii) = (i) = (V)=
10.3 298 «l0@8, 860 @P8AEd 8 Biaflé:sled Moa)). 80} H1aflWITd ag®
ellg@ aloenens?
3 litres of milk is used to fill in 8 bottles of the same size. How many litres

does each bottle hold?

11.17 27198 MI8M88 HWAE, 25 MVABINEEBBILH]. B0} BaUeMOTIOM MI80
)@ ﬂgooerﬁ?
Arope 17 metres long is cut into 25 equal pieces. What is the length of each

piece in metres ?

12.19 &1GRIO(0 @PE] 20 Galdse 66O Galoeel AllMla)). BOIUBEE af)®

&1GRI0(NJ0 H151?

19 kilograms of rice was equally divided among 20 people. How much

kilograms did each get?

13.8.5 &16RIO(N0 @RO], 860 @REAIIT3 o: Mueailwlanssl. 80) Mmuemilalod

)@ S1GRIONIM)6NTS?
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8.5 kilogram of rice was equally packed into 2 bags. How much does each
bag contain?

14.10.5 2198 6880 860 @P8AIE3 6 dh)a{leéES1Ed M0a]). 80) &)alWIG3 ag)®
eflod oens ?
10.5 litres of water was used to fill 6 bottles of the same size. How much

litres does each bottle contain?

1. 145 omudialod mMIse88 &) MIS, O6ME) MUARIVEBRSBILE]. 60600

<ﬁmﬂ:16TT)(6TZS)']6)(T3C@)®)go M180 ag)(® @m(@ﬂgooaﬁ’ ?
A ribbon 14.5 centimetres long is cut into two equal pieces. What is the

length of each piece in centimetres ?
2. 205 2198 aNQ8ANS88 MR2I®OEO®OMR B0} AULODIOM MI80 GO

ﬂgoom‘)' ?

What is the length of a side of a square of perimeter 20.5 metres ?

3. 6 GalmW)es ailel 40.50 ©}alOM. B0) CalM)eS Allel ag)(@Wo6n) ?

The price of 6 pens is 40.50 rupees. What is the price of one pen?
Bo® nNE6Mo (Decimal division)
o 51 xi— ...
4 3

» ElaM MVo6LLO0)alO]ERIO) ) &.

Write as fractions
1. 5.25=..........

2. 0.75=...........
3. 0.35=...........

4. 485=...........
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» 30000000} AlOTDORIL)®) .

1.

5.

525

100

.............

525

10
525

M_
325
E:
25
E:

> (SO 0alQ)d.

Do these problems

—_—

. 525 075 = ...,

B0) al(@OBITd 4.05 2lgd eaIEloajenWims. D 0.45 2108 6HI8S)aM
D)afleEla10866mMo. )@ BH)aflevd calemo?

A vessel contains 4.05 litres of coconut oil. It is to be used to fill 0.45 litre
bottles. How many bottles are needed?

17.5 2198 MIsmss SHmil, 2.5 27198 MISMSBS HaUEMEBBBIBE]. af)(@ EaH
EMEBRS)6NE?

An iron rod 17.5 metres long is cut into pieces of length 2.5 metres each.
How many pieces are there?

6.5 &IGRINNJ0 DBH)6aldS], 0.25 &G0 Ao aldBeQ)E&S1RI0661W
@3, )@ aldHOQ DENEIHY0?

6.5 kilograms of chilli powder was packed in 0.25 kilogram packets. How

many packets are there?
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g @RoENIMDo (RATIO)

2100 &6mMe6 (Rectangle problem)

» DD HMENHUB HalT®) GMIES).

Try these problems
. al)QIeS al0eMBIT]He)M BOGOI al®OOTIOMW)o SWOA)e MI8aljo ®mlanss

@RoUdENIMWO HFIVWIMD)0 H2l01W af)N@ITVOEIIH (B DaleWOIUila)) af)9)@)bH.

Write down the ratio of the height to width of each of the following rectangles
using the smallest possible natural numbers.

(i) 2o 8 eaVBlalod; migo 10 &MLAIAT1NA
Height 8 centimetres, width 10 centimetres
(i) 2o 8 2%193; MIgo 12 &19Ad
Height 8 metres, width 12 metres
(iii) @0 20 &MVABIATQB; M0 1 219Ad
Height 20 centimetres, width 1 metre
(iv) e@eo 40 oaVEI2’10d; MI8o 1 2703
Height 40 centimetres, width 1 metre
(V) eweo 1.5 oauadla’lod; migo 2 eauaglalod
Height 1.5 centimetres, width 2 centimetres
. 2)eSW8S alSleW1ed ailal 21)06B8B8)6S 9W0o, MI8o, @R OMIL)SS
@oUoENITWo  af)MIUWIE3 ©eMEEMNo @ANISINS. 2)MIACED®  d6Ns)allSla]
alSld al)@Om1WIBe)b:.

In the table below, the height, width and their ratio of some rectangles are given,
but only two of each. Can you calculate the third and complete the table.

owoo (emu.a’) | MI8o (amu.a?) @R oUdENIMWO
Height (cm) Width (cm) Ratio
6 8
3 3:4
3 1
4
1 3:4
6 15
2 2:5
1 2:5
1 2:5
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2() @R8N (Other measures)
> O®)Galdeal 2jales AMIFIeN M &emeedglealeto, &$lWIM@ 6211w
a)eIN@3 MVo6L B8 DalEIUla] @ROUDENIMLEBBUT EEM BN .
Calculate the ratio, using the smallest possible numbers, in each of the

following problems.

1. @RAIMW)IOS 66HWITE 105 0)al@)o, 62FMIW)es 66&WId 175
0)al@)@)ENE. §2101Q @)H)o ALY @)&:W)o GXILNSS @PoUdNIMbO &
M BB B>
Amina has 105 rupees with her and Mercy has 175 rupees. What is the
ratio of the smaller amount to the larger?

2. 80) MLEMBMEWIGE 96 M@ 1SS0, 144 aljO)aUMOIO)0  AleES)OIN).
M@16S)6S afeIRA}0 al)0)aU@OOYIOS af)fNOo @EARNSS @ooUdENIMWo
H6NE) allS1e6) .

96 women and 144 men attended a meeting. Find the ratio of the number
of women to the number of men.

3. ©6n8) HalBMVlanNH St eal0y@lend Migo 4.5 emuglalgo)e, ale@lend
mI8o 7.5 &LTIA1IQOY@06M. LNGIOMBW)0 B210)@eMBW)0 MIBEBRUD GO
@R0oUDENINW T 121061 ?

Of two pencils, the shorter is 4.5 centimetres long and the longer 7.5

centimetres. What is the ratio of the length of the longer to the shorter?

4. 80) al0S}OBHIMNE GO} 2lMOOTOTG  QUUEBUE @R8MEaoud Al

aleslom @ovao MIBo, alosSlend % @OUNAU0 M) &6enR). Allelw)o
s @m1e)N88 @RoUdENITWo af)aM6M ?

When a rope was used to measure the sides of a rectangle, the width was
iof the rope and the height was § of the rope. What is the ratio of the height
to the width?
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5. 80} alele @&)afl MowWseeod 3% QoMU eaIgsal)o, 62101® o

v 1 v
MOS8 2= OM 6AI88Al)o GAIMo. ARl &)aflW)es®io aldlw

H)aflwieswio 98880 BB OMNLNSS @ROUDENIMWO ag)TMOEN) ?
3% glasses of water would fill a large bottle and 2% glasses of water could

fill a smaller bottle. What is the ratio of the capacities of the larger bottle to

the smaller bottle?
CalejNI&836S MiMbo (Ratio of mixtures)

> DD HNEN)HUD a2l ®) GMIEE)
Try the following problems
1. GRIDWYEMNZIBOHIM 6 dhra] @OV 2 dha] OLIAN af)ANIEM HEMEE). 9 Ha]
@RO1OWS)EMO@, af)(® da] DL)M) afS}BOEMoO ?
To make dosa, we need to take 2 cups of black gram for every 6 cups of

rice. For 9 cups of rice, how many cups of black gram shall be taken?

2. aflgleal ajaId cOWenM@IN) mileamo @asmeno 1 : 5 alm @ovd
IO 12106M)  ©ale@IWlad. D@IMIW] 45 21086 MIlOAg A1068E]. ag)(©®

21086 MEM®@D I06BB6MoOo 2

To plaster the walls of a house, cement and sand are mixed in the ratio 1:5.

45 sacks of cement were bought. How many sacks of sand are needed?

3. aflsla) alowo GOWeNEMOWB 12 2lgd 210WEBIEM @&es 8 ellod

S@OaOeMBM)0 @YEM EGalBED@). 15 2108 210WEWOE &*)eS af® ellgd
SB6a16e38 Galdeeemo?

12 litres of paint was mixed with 8 litres of turpentine while painting the
house. How many litres of turpentine should be mixed with 15 litres of

paint?

4. 80) alUOVWOBIOal Mo AUIBWIE MI@1&H8)OSWI0  al)0)aHmO
}OSW)o ag)efPo 11 : 10 ag)M @ROUDENITWEBIAINEM. ®ailes 1793 U@ 18
806M)88®. MAMOS af)(@ al)0)aUMOMYENE 2 V(@ 1B:8)o al)@)aHUMI0)o
B)S] @ROB af)(@BCAIO)ENS ?
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In a ward of a panchayat, the women and men are in the ratio 11 : 10. There
are 1793 women in the ward. How many men are there in the ward ? What

is the total number of women and men?

B)NOHEMSE (Division Problems)

1. ooapeil 96emrEoeedIm GREIWo 9o 2 : 1 af)(M @ROUDENIMU®IILIOE)
a)S}EO)ME@AN)  alOEITMELI0. @RGCIW)o D90 H)S| @RYOB 9 Ehaloem)
af)S)OO ). @GS @] ag)(@ Ealoem?

We've seen that rice and black gram are to be mixed in the ratio 2 : 1 to make

idlis. In 9 cups of such a mixture, how much is the rice?

2. 80) ©MeOMVIIWIEE 600 al}O)aH@O)o 400 MU(@1HS)o G@RONEBBSIEM).
OIEIGE MM 30 Gal®)eS (AIURTME:MVAI®] DENBIBH6Mo. @RGIG al)®)aH
@I0}OSW)o MU(@1BHS)OSW)o )OO @ROUDEMNIMUO TV RICHGRIm)
@6  @RWIBleceMo. (aIAUBEMEGMUAIMIWIT )@ al)0)aHMOIOI0  af)(®
M@ 8)o0 DeMrRIWIBlee6mMo ?

600 men and 400 women are members of a co-operative society. A working
committee of 30 members is to be formed. The number of men and women
in the committee should be in the same ratio as the number of men and
women in the society. How many men and how many women should be there

in the committee?

3. M@ S1ORI00) alafsdd]l  C®ISMENOBHIS 21006 | @WeNS8SS  60)
amiLnelo BB 6651 @clesnemo. Bolem Mige 32 a’19d. al@lw)o MIgale
3 : 5 )N @ROUONIMWEMRIWIRIEHEeMo ag)mMmoem ®@1o)aomo. Al@@)o

mI8)o ag)(® ﬁg(& QUlloo @RyWIolese6mMo.

The school needs a vegetable garden. A rectangular plot is to be roped off
for this. The length of the rope is 32 metres. They decided to have width and
length in the ratio 3 : 5. What should be the width and length ? The length of

the rope is 32 metres. So, the perimeter of the rectangle is also 32 metres.
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Try these problems

51

1. Man0®)o MIM®)o GalBM B0) GajSo ®)SEBEL. MVYAN0 40000 ©)al®)o

M@ 50000 ©)al@)@06M MSHSIW@). 10RO &SI 9000 ©)al, MISHE)
g@eﬂ@(@ @RoVOENITWEM B3 @16 2JS)@1®). 630CGEI0)OMBEN)0 af)(@ ©)al
&gl ?

Suhara and Sita started a business. Suhara invested 40000 rupees and Sita
50000 rupees. They made a profit of 9000 rupees. It was divided in the ratio

of their investment. How much did each get?

. ©GAUOM)o GRIEM)o B0) GRIAI HOIHNSIOM). OCAUDMD @RHO) Glalrual)o,
GR06M a@?) Glalruanmoem 6Roell §alPOm®. &ISI® 6500 ©)al, GROAI
0210® FlAIMUEBBE)OS @RoUDNINWOTMIGY AlM]a)). B0GOIVIBTTMAEN)0 af)l®
©)al &I1g1?

Ramesan and John took up a contract for a work. Ramesan worked the first
6 days and John 7 days. They got 6500 rupees. They divided it in the ratio of

the number of days each worked. How much did each get?

. ©O2)0Njo EOR)ONo BO) @ 3 : 2 af)MM @RoUdENIMLODITE Al Galoud

©o@)Qila) 480 ©)al &IS).

(i) P00 ag)l©@ ©)al &S] 2

(i) @O af)® 0)al@o6m U@ ?

When Ramu and Raju divided a sum of money in the ratio 3 : 2, Ramu got
480 rupees.

(i) How much did Raju get?

(if) What was the sum that was divided?

. 9 euaglalod MIgEmled AB ageommon) alo AloWen)d. D@Ied P agam
@)omlIsemo. AP, PB agamlai)es mI1868308 1: 2 ag)am @rouderimwors]alo

wloleeemo. A Wl@d MM ag)(@ GR&e.IWoeMm P mswogagsgemm«s‘)’ ?

HEMB)H)S] ERSWIB6S)O10)d».
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Draw a line AB, 9 centimetres long. Mark a point P on it. The lengths of AP
and PB should be in the ratio 1 : 2. How far away from A should we mark P

? Calculate and mark it.

5. 15 632198 MI888 B0) U0 AUCWSEe)d. D@OM 2 : 3 af)aN @ROUDEN
mwWoled WL  MmilM) DEITE @RSWIBHIS)TmEMo.  MIBEBRUD
HEMBO0E6] MNIB) GRSVWIBOIS)OTD) b>.

Draw a line 15 centimetres long. Mark a point on it that divides the line in the

ratio 2 : 3. Calculate the length and mark the point.

6. 30 &MLME2T9AB ajQ8Alo, AULDEBBSIOS MIBo 1: 2 af)M @ROUDENINWEB]RI 0
@R 2IMO0 AUOW B H.
(i) me® angsailed, alvoesg)es MIgo 2 : 3, 3 : 7 af)aM’l @RoVdENINWEBBE]CS
@O AQ OMB) 2lM)OBBU3 &)S] AUCWH) .
(i)  @mM) 2IO)OEBBSIOSW)0  AlPASANHUE  HEMEOIDO)H.  ABO)
21®}E@TIMIEN al0a|8QT agQal)o &)S)OOD?
Draw a rectangle of perimeter 30 centimetres and sides of length in the ratio
1:2.
(i) With the same perimeter draw two more rectangles with sides in the ratio
2:3and 3:7.
(i) Calculate the areas of the three rectangles. Which rectangle has the

greatest area?
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S6MEAIRAI 213630ONIOM) (SHORTHAND MATH)

(Mo6llj83Jo BIRSUWO6IBEJo (Numbers and Letters)
> QI0oeEBR8)esealte Mg 5 2198 @YW MR IGEADOM 218l ag)@WIEM?
What is the perimeter of a square of side 5 metres?
> 21)0160Sq]060R186)M $068R03 MIIRVMI® ROAULIGE of)P)@Rcal0 ?

Write the following statements using the language of algebra ?
1. a®) (MVo6UIBWIS)o al)Rio &)SIWIGD GRE® MVoELMEM & 1g)o.

Zero added to any number gives the same number.
2. a@®) Mol iW1Ed Mo al)BRio B )}02]0Gd GRGM® TVo6Y &IS)o.

Zero subtracted from any number gives the same number.
3. @) MLoeUiWIEd MIMM)o @RE® MVOELY &)02j0Td al)2RiMIdh)o.

Any number subtracted from the same number gives zero.
4. af®) MUOELIOWW)0 al)Rio 6 I6NR) 1N)6M1o]0@d al)RiMId:)o.
Any number multiplied by zero gives zero.

5. af®) (Mo6LIHQ®)0 BRM)OEIENSYMEMM aN®la]oGd EaN) &lS)o.

Any number divided by the same number gives one.
6. aB®) (MoAJEWIS)o @RMIONY O6NE) ASEBE H)SIWIED, @M} ASEBE @R H:)o.

Twice a number added to the number makes three times the number.
7. a@®) MoEUIIeOSWIo M) @SEBRIEMIM) ©6NE) MSEBB) &)02jomd, Vo6

@6 &13)0.

Twice a number subtracted from thrice the number gives the number.
8. aB®) (MOELJEWIS)0 BOQIM) (Vo6 &S], SISV MVo6LY H)}0ajOEd @RYBLODTD
(Muo6Ly &»1S)0.

A number added to a number, and then the added number subtracted gives the

original number.
60MMIMIWIe H2XOM2)W3e (One by one and altogether)

» 15 eMOS 28 )5, aflom 2 9o &)S] H)1SIVWITD ag)(@WIE)0 ?

28 is added to 15, then 2 also is added. What is the result?
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> aB®) MUo6UIBWIS)o 6NE) MVoEUYEUE BMIM)GUaHo @OQOMIW @)slwoalo,
0D ©6IE) MVOEUIH:BIOS M) $)SIWIRN0 BCO TVoRII@EMM &1g)o.

Adding two numbers one after another to a number, or adding their sum, gives

the same result.

> X,Y,Z ag@) Muoslidsowoene (x +y)+z=x+ (y +2)
(x+y)+z=x+ (y + z), for any three numbers x, y, z

» a@) Loal@I@MIM)o  ©6NB) MUoEUYHU3  BMIMEUDaHo  BOQOMIW
)02]0R1)0, DD M6NZ) MUOELIHB)OS M) dh)0ajoRlo BGO Mo &lg)o
Subtracting two numbers one after the other from a number or subtracting the
sum of these two numbers from the first number, both give the same result.

> X,Y,Z ag@) @) quoeydgowoeno (x —y) —z=x—(y +z)
(x—y)—z=x—(y + z), for any three numbers x, y, z

2}AUOSW)BS HEMBO)HUB MG @O 6alQ)H>.
Do the following problems mentally
1. (i) 49 + 125 + 75

(i) 35+ 8>+

(iii) 15.5 + 0.25 + 0.75

(iv) 38 + 27

(V) 136 + 64
2. (i) (135 — 73) — 27

(i) (37 -15) -3

(iii) (298 — 4.5) — 3.5

(iv) 78 — 29

(v) 140 — 51

QS8R0 &INWBHRY0 (Addition and Subtraction)

> om0 @)56ElEa 008 38 )Sle8)M200)m). @eainic 66IEs] 15 @)Sleud
B)S] af) @], H)}0a]) HFOCME OB 3 &)S1HUB HEMBO)EH)SOMONE CWONE]

M) Galo@]. DEaJoud KOG ag)(@ Galo)6rrs ?
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95

There were 38 children at the beginning of the class. 5 children came late. After
sometime 3 went to attend a meeting of the Math Club. How many children are
there in the class now?
3@} LeEUWEVISPe B@F QAR AVo6Y H35] BEF 210l VoY BIO gpPeIZos
aleig@lod mlan’ @al03@ &30 5| HFSIVICIZe BEE VNSO S0
Starting with a number, if we add a larger number and then subtract a smaller
number, or add the difference of the smaller number from the larger, either way
we get the same result.
X, Y, Z o@3@3 2A3ONT QUGN RHGSINVICIZo, Y > Z @e@6emaslod (x +y) —z=x+ (y — 2)
(x+y)—z=x+ (y—z), for any three numbers x, y, z with y > z.
2)QIOSIBS HEMBE)HUE AMMITE ©21T®) EMIHO)
Try to calculate these mentally
(i) (136 +29) — 19
(i) (32 +53) - 23
(i) (298 + 14.5) — 12.5
(iv) 23 + (35 — 18)
(v) 65+ 98
¢10al)aflond aleMeeSINE3 10 0)alW)ENE. GalM QIOEBRIME 15 ©)alOWS)EI®). 10
0)alW B GalM &5l @lajo AN 5 O)al Oalglwlellg). Eajoud OaISIVIGE ag)©®
O)al)ens ?
Gopu has 110 rupees in his cash box. He took out 15 rupees to buy a pen, He
bought a pen for 10 rupees and put the remaining 5 rupees in the box. How

much money is there in the box now?

e@@®3 auea@lob mlange &3 el aLE) 0] FEF @20l aV.6
& 3s5levoeize, Qleiz@od MIan’ @al03@ &30 &F05j9CI%, BE@ MUoEY @SN
S5l g0

Starting with a number, if we subtract a larger number and then add a smaller
number, or subtract the difference of the smaller from the larger, either way we

get the same result.
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* X,V,Z a@@®3 A300T VN SBSIVICIZe, Y > Z er@emaslod (x —y)+z=x— (y —2)

x—y)+z=x—(y—2),forany x,y,zwithy > z.

> 2)}010S@)88 BMBEe)&H0B amMMYGE H2IT®) CGMISE).

Try to calculate these mentally
(i) (135 — 73) + 23
(i) (38 — 83) +3
(i) (19 — 6.5) + 2.5
(iv) 135 — (35 — 18)
(V) 240 — (40 — 13)

&J5RI%0 &INWOAHR0 allmm “emIeneido
(Addition and subtraction and then multiplication)
¢ af@) ©6MB) MUoEUIBGHSIOSWI0 @)EHOW B0} MUo6LY 6&6MB) !)eMlajorno
MWLl B0  MUoAIGRW)o OAIGQYOD M1Mla)) &)5lWoeNo  BGO
(MVo6L @& &>13)0.
Multiplying a sum by a number, or multiplying each number in the sum
separately and adding, either way gives the same result.
¢ X,V,Z aR@®) 20N} Mot &H80WoR)o (X +Y)z = xz + yz
(x +y)z = xz + yz, for any three numbers x,y,z
* aRB®) O6ME) MVoELLGS)OSWI0 QAL LOTVODE BO) Mo6LY OHH0MNE) 1)6Mlajoelo,
QU@ L0TVEDIOR!I BOGOI MVoEICGR®I0 HAUGYSO M)eMla)) &)0ajifl)o BGO
MUoEU @O &15)0.
“ Multiplying a difference by a number, or multiplying each number in the
difference and subtracting, either way gives the same result.
WX, Y,Z a@®) B)ON) Mo BHB80WoRNo (X —Y)Z = XZ — Yz

(x —y)z = xz — yz, for any three numbers x,y,z
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Try to do these mentally
(i) 103 x 15

(ii) 98 x 25

(iii) (65 x 11) — (55 x 11)
(iv) (15 X Z) + (5 X %)

(v) (55 % 23) — (45 x 23)
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